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QUESTION 1

How can an administrator reduce overhead when utilizing monitored directories? 

A. Increase the polling interval so that the process runs less often. 

B. Decrease the amount of time that the monitored directory is accessible by users. 

C. Decrease the size of the monitored directory so that larger files will not be able to be stored in it. 

D. Configure the monitored directory settings to not automatically synchronize the application once it is installed. 

Correct Answer: A 

To change the standard polling interval setting, specify a number of seconds in the Polling interval field. 

Figure: Configuring the monitored directory 

Reference: Application Server V8.5, July 2013, page 852 

 

QUESTION 2

How can the administrator change the console session expiration for the Integrated Solutions Console? 

A. Modify timeout value and run the timeout.jacl script. 

B. Set the timeout value in the Console Preferences panel. 

C. Use the settimeout wsadmin command and specify the value. 

D. Set the ConnectionResponseTimeout value in the Integrated Solutions Console. 

Correct Answer: A 
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Change the on the two lines of the timeout.jacl script to the new session expiration value. This number specifies the
number of minutes the console preserves the session during inactivity. 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/
isc/cons_sessionto.html 

 

QUESTION 3

An administrator notices a sudden increase in the user load that causes resource contention on the database server. 

What preventive measure can the administrator take to avoid database outage? 

A. Enable surge protection. 

B. Configure Stuck connection. 

C. Reduce connection pool size. 

D. Reduce WebContainer Thread pool size. 

Correct Answer: C 

Maximum Connection Pool Size 

When determining the maximum size of the database connection pool, consider the following issues: 

The total number of connections that the WebSphere Commerce cluster can open to the database should 

not overwhelm your database. 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21358336 

 

QUESTION 4

What is a benefit of using the IBM Extended Cache Monitor? 

A. It invalidates cacheids. 

B. It displays the contents of the cache instances. 

C. It displays the contents of object cache instances. 

D. It displays the dependency ids of the cache instances. 

Correct Answer: C 

The IBM Extended Cache Monitor for IBM WebSphere Application Server provides you with two functions that are not
available with the cache monitor that is supplied with WebSphere Application Server. These two functions enable you
to: display the contents of object cache instances display the Dynamic Cache mbean statistics for cache instances 

Reference: https://www.ibm.com/developerworks/websphere/downloads/cache_monitor.html 

 

Latest C9510-418 Dumps | C9510-418 VCE Dumps | C9510-418 Practice Test                                3 / 4

https://www.geekcert.com/c9510-418.html
https://www.geekcert.com/c9510-418.html
https://www.geekcert.com/c9510-418.html


https://www.geekcert.com/c9510-418.html
2024 Latest geekcert C9510-418 PDF and VCE dumps Download

QUESTION 5

Which statement describes a cell in a Network Deployment configuration? 

A. A cell can consist of multiple nodes and node groups. 

B. A cell only contains one node that contains one server. 

C. Nodes and node groups in the cell are administered from the node agent. 

D. Nodes and node groups in the cell are administered from the job manager. 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_9.0.0/
com.ibm.websphere.nd.multiplatform.doc/ae/welcadminagents.html 
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